
ICT in EFL credit test, MA2, 30/01/2015. 

Circle the best answer 

 

1. Ageism in ICT is: 

(a) accelerated obsolescence of ICT equipment, 

(b) the low average age of ICT enthusiasts, 

(c) the high average age of teachers not using ICT, 

(d) age stereotyping with respect to ICT users, 

(e) the classification of ICT equipment into so-called 'generations'. 

 

2. The most commonly used ICT resources/technologies by Polish teachers are: 

(a) websites, 

(b) email, 

(c) computer games, 

(d) blogs, 

(e) podcasts. 

 

3. Early text-based CALL succeeded pedagogically mainly because: 

(a) computers could not handle multimedia, 

(b) text was easy to display on CRT monitors, 

(c) language is mostly text, 

(d) ZX Spectrum appeared in 1982, 

(e) the grammar-translation method was still in force. 

 

4. A KWIC concordance is best used pedagogically for the study of: 

(a) pronunciation, 

(b) morphology, 

(c) spelling, 

(d) vocabulary, 

(e) phraseology. 

 

5. According to corpus evidence, only ... English tenses have significant text frequency: 

(a) 3, 

(b) 4, 

(c) 5, 

(d) 6, 

(e) 7. 

 

6. Waveform displays in multimedia CALL are supposed to help students: 

(a) with intonation and rhythm, 

(b) to speak fluently, 

(c) to match their pronunciation with the model, 

(d) to understand the acoustics of pronunciation, 

(e) who have hearing problems. 

 

7. The classification of www into web1, web2 and web3 is mainly based on: 

(a) chronology, 

(b) functionality, 

(c) screen organization, 

(d) number of users, 

(e) web access bandwidth. 

 

 

Best answers: 1d, 2a, 3c, 4e, 5b, 6c, 7b. 


